

①

Quiz No # 1

Name :- Muhammad Saad

Id # 16097

Teacher :- MAM Shomaila Mazhar

Subject :- Applied Calculus

Q Find

$$\int_0^1 \frac{4t^3 - 2t^2 + 3t - 1}{t^2 + 1} dt$$

* Since degree of Numerator > Degree of Denominator so we divide Divided by Divisor.

$$\begin{array}{r} 2t - 1 \\ 2t^2 + 1 \overline{) 4t^3 - 2t^2 + 3t - 1} \\ \underline{-4t^3} \\ 2t \\ \underline{-2t^2} + t - 1 \\ \underline{+t} - 1 \\ \underline{-1} \\ t \end{array}$$

→ Remainder [R(x)]

$$\left[Q(x) + \frac{R(x)}{\Delta(x)} \right]$$

(2)

$$\frac{4t^3 - 2t^2 + 3t - 1}{2t^2 + 1} = 2t - 1 + \frac{t}{2t^2 + 1}$$

$$y = \int_0^1 \frac{4t^3 - 2t^2 + 3t - 1}{2t^2 + 1} dt$$

$$y = \int_0^1 \left(2t - 1 + \frac{t}{2t^2 + 1} \right) dt$$

$$y = \int_0^1 2t dt - \int_0^1 1 dt + \int_0^1 \frac{t}{2t^2 + 1} dt$$

$$y = 2 \int_0^1 t dt - \int_0^1 1 dt + 1 \quad \text{--- eq (1)}$$

$$P = \int \frac{t}{2t^2 + 1} dt \quad \text{--- eq (2)}$$

Using Substitution Method

let

$$2t^2 + 1 = u \quad \text{--- (i)}$$

$$d(2t^2 + 1) = du$$

$$2d(t^2) + d(1) = du$$

$$2 \cdot 2t dt + 0 = du$$

(3)

$$4t dt = du$$

$$t dt = \frac{du}{4} \rightarrow \text{(ii)}$$

Putting $2t^2 + 1 = u$ or $t dt = \frac{du}{4}$

in eq (2)

$$P = \int \frac{du/4}{u}$$

$$P = \frac{1}{4} \int \frac{1 du}{u}$$

$$P = \frac{1}{4} \ln u + C$$

Put $u = 2t^2 + 1$

$$P = \frac{1}{4} \ln |2t^2 + 1| + C$$

$$P = \int \frac{t}{2t^2 + 1} dt = \frac{1}{4} \ln |2t^2 + 1| + C$$

$$P = \int \frac{t}{2t^2 + 1} dt = \frac{1}{4} \ln |2t^2 + 1|$$

R.w

$$\frac{d(\ln u)}{du} = \frac{1}{u}$$
$$\ln u = \frac{1}{u} \frac{du}{d}$$
$$\ln u = \frac{1}{u} \int du$$
$$\ln u = \int \frac{1}{u} du$$

(4)

$$y = 2 \int_0^1 t dt - \int_0^1 1 dt + \int \frac{t}{2t^2+1} dt \rightarrow \text{eq (1)}$$

$$y = 2 \left| \frac{t^{1+1}}{1+1} \right|_0^1 - \left| t \right|_0^1 + \frac{1}{4} \left| \ln |2t^2+1| \right|_0^1$$

$$y = 2 \left| \frac{t^2}{2} \right|_0^1 - [(1) - (0)] + \frac{1}{4} \left\{ \ln [2(1)^2+1] - \ln [2(0)^2+1] \right\}$$

$$y = [(1)^2 - (0)^2] - [1 - 0] + \frac{1}{4} [\ln [2+1] - \ln [0+1]]$$

$$y = [1 - 0] - [1] + \frac{1}{4} [\ln 3 - \ln 1]$$

$$y = [1] - [1] + \frac{1}{4} [\ln 3 - 0]$$

$$y = x - x + \frac{1}{4} \ln 3$$

$$y = \frac{1}{4} \ln 3 \text{ Ans.}$$

(5)

Q Find

$$\int_2^3 t \sin t^2 dt$$

Sol:-

$$\text{Let } y = \int_2^3 t \sin t^2 dt \quad \text{--- eq ①}$$

$$\frac{d}{dt} (\cos t^2) = -\sin t^2 \cdot \frac{d}{dt} (t^2)$$

$$\frac{d}{dt} (\cos t^2) = -\sin t^2 \cdot 2t^{2-1} \frac{dt}{dt}$$

$$\frac{d}{dt} (\cos t^2) = -2t \sin t^2 \frac{dt}{d}$$

$$\frac{\cos t^2}{-2} = \int t \sin t^2 dt$$

$$\frac{-\cos t^2}{2} = \int t \sin t^2 dt$$

From eq ①

$$y = \int_2^3 t \sin t^2 dt$$

0.002

(6)

- 0.

$$y = \left| \frac{-\cos t^2}{2} \right|_2^3$$

- 0.

$$y = -\frac{1}{2} \left| \cos t^2 \right|_2^3$$

$$y = -\frac{1}{2} [\cos 3^2 - \cos 2^2]$$

$$y = -\frac{1}{2} [\cos 9 - \cos 4]$$

$$y = 0.0049$$